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310 X WAl 543,329,948 503,201,653 40,128,295
311 XA 543,329,948 503,201,653 40,128,295
311-01 X w=RAl 543,329,948 503,201,653 40,128,295
[ 2utslA ] 543,329,948 503,201,653 40,128,295
<OdIEEH2AA > 416,293 469,347 A53,054
OZHL2A 416,293 469,347 A53,054
-Hgelgg X& 383,961 437,015 A53,054
<olgE2A > 374,015,000 407,960,000 A 33,945,000
OEEU=RA 20,000 0 20,000
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< NSR2/AH 2 > 100,024,000 20,000,000 80,024,000
OF S uRA 100,000,000 20,000,000 80,000,000
OEZGU=RA 24,000 0 24,000
—LALZ OIXEA 24,000 0 24,000
< BMEEL > 346,411 82,100 264,311
OZdURA 66,411 82,100 A 15,689
-S32Z MY 66,411 82,100 A 15,689
OEZEUWRA 280,000 0 280,000
SMEXRIIEY QMEE 280,000 0 280,000
< MefarH b > 53,010 80,000 226,990
O2d WA 53,010 80,000 A 26,990
-ESHHIAL03 Ol XHake 53,010 80,000 226,990
< AHFAX D > 82,510 151,826 A69,316
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<ESXEHY > 6,741,503 7,627,700 A 886,197
O2d WA 6,741,503 7,627,700 A 886,197
-2oJ|2 29¢9 85,000 105,000 220,000




Z: 300 KgDEA
21310 AL DA
&: 311 NYD=A (EHo]: & 2)
o8-S 0l ey pIE-E" D52
-OlsE23dEI2 29 169,489 206,590 A37,101
S QAAL2E NS 6,369,014 7,198,110 A 829,096
< TQIEOfOID > 21,275,972 24,287,134 £3,011,162
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SnElfg3 &= 2,030,629 0 2,030,629
<<EZusH > 31,863,570 37,286,832 Nb,423,262
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-S3HA 2 232,062 251,120 A 19,058
-HILd 2By 256,890 277,987 A21,097
OESLRAM(NL=FH) 24,432,000 29,786,000 5,354,000
OSgU=RAl 500,000 0 500,000
23 29cR #EE 500,000 0 500,000
<sgll=d 2 > 0 238,502 A238,502
OZ2HURAl 0 238,502 N238,502
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